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Q1) Attempt any two parts of the following. [2 × 5 = 10]

a) Explain power flow diagram of an induction motor.

b) Write the applications of slip in an induction motors.

c) Explain star delta starter.

Q2) Write short note on any two parts of the following. [2 × 5 = 10]

a) Explain the method of speed control of induction motor.

b) Harmonics and its effects. (Write)

c) Specification and rating of induction motor

Q3) Attempt any two. [2 × 5 = 10]

a) Application of single phase induction motor. Explain.

b) Explain split phase induction motor.

c) Explain single phase synchronous motor.

Q4) Write short note on any two. [2 × 5 = 10]

a) Features of synchronous machine

b) Generation of three phase emf.

c) Draw and explain equivalent circuit diagram of synchronous machine.

Q5) Attempt any two. [2 × 5 = 10]

a) Write the applications of synchronous machines.

b) Explain AC servo motor in brief.

c) Explain stepper motor in brief.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O`o &

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{O¶o& [2 × 5 = 10]

A) B§S>³eZ ‘moQ>a Ho$ nm°da âbmo S>m¶J«m‘ H$s ì¶m»¶m H$a|&

~) B§S>³eZ ‘moQ>a ‘| pñbn Ho$ ‘hËd {b{IE&

g) ñQ>ma S>oëQ>m ñQ>mQ>©a H$s ì¶m»¶m H$a|&

à.à.à.à.à.2) H$moB© Xmo H$a|& (bKw boI) [2 × 5 = 10]

A) B§S>³eZ ‘moQ>a ‘| ñnrS> H§$Q´>mob H$s {d{Y¶m| H$s ì¶m»¶m H$a|&

~) hma‘mo{Z³g Am¡a BgHo$ à^md {b{IE&

g) B§S>³eZ ‘mooQ>a H$s ñ’¡${g{’$Ho$eZ Am¡a aoqQ>J

à.à.à.à.à.3) H$moB© Xmo H$a|& [2 × 5 = 10]

A) qgJb ’o$O B§S>³eZ ‘moQ>a Ho$ ‘hËd H$s ì¶m»¶m H$a|&

~) ñn{bQ> ’o$O B§S>³eZ ‘moQ>a H$s ì¶m»¶m H$a|&

g) qgJb ’o$O qgH«$moZg ‘moQ>a H$s ì¶m»¶m H$a|&

à.à.à.à.à.4) {H$gr Xmo na bKw boI {b{IE& [2 × 5 = 10]

A) qgH«$moZg ‘erZ H$s {deofVmE§

~) W«r ’o$O B©.E‘.E’$. H$m OoZaoeZ

g) qgH«$moZg ‘erZ Ho$ B³drb|Q> g{H©$Q> ~ZmB¶o Am¡a ì¶m»¶m H$a|&

à.à.à.à.à.5) H$moB© Xmo H$a|& [2 × 5 = 10]

A) qgH«$moZg ‘erZ Ho$ ‘hËd {b{IE&

~) g§{já ‘| E.gr. gdm} ‘moQ>a H$s ì¶m»¶m H$a|&

g) g§{já ‘| ñQ>¡na ‘moQ>a H$s ì¶m»¶m H$a|&
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